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questions of Language (Qualifying), Part-II contains questions of General Studies and Part-III
contains questions of Language (Hindi & English).

. Part-I consists of Question Nos. 1 to 30, Part-II consists of Question Nos. 31 to 70 (the questions

and their responses are printed in English and Hindi versions both) and Part-III consists of
Question Nos. 71 to 150.
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Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
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pages (Page Nos. 36 to 39) for Rough Work and no page or question is missing or unprinted
or torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

. You must write your Roll Number in the space provided on the top of this page. Do not write

anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You

must write your Name and other particulars in the space provided on Page-1 of the Answer
Sheet provided, failing which your Answer Sheet will not be evaluated.

. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is

printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
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correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

. Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE

correct response and mark it in your Answer Sheet. Your total marks will depend on the number
of correct responses marked by you in the Answer Sheet.

In the Answer Sheet, there are five circles—@), ®), ©, © and ® against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

€~ 3
a 2

1.

4.

an’ and ‘the’ :

Sarita is going to join as
BDO.

(A) the
B) a
(C) an

(D) More than one of the above
(E) None of the above

Washington Post is the
most read newspaper in the
USA.

(A) The
(B) A
(C) An

(D) More than one of the above
(E) None of the above

Which of the following is not
a part of kitchen?

(A) Bucket
(B) Geyser
(€) Tap

(D) More than one of the above
(E) None of the above

Which among the
is not a fruit?

(A) Carrot

(B) Turnip

(C) Beetroot

(D) More than one of the above
(E) None of the above

following
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5.

Look there are in the

water.

(A) birds

(B) butterflies

(C) tadpoles

(D) More than one of the above

(E) None of the above

A year is called leap year if it has
(A) more days in a month

(B) more days in weeks

(C) less days in a month

(D) More than one of the above

(E) None of the above

Son of brother is known as
(A) nephew

(B) cousin

(C) sibling

(D) More than one of the above

(E) None of the above

Father’s sister is known as

(A) mausi

(B) sister-in-law

(C) cousin

(D) More than one of the above

(E) None of the above



10.

11.

12.

FA-H aieft e gl e’ 3uam &%
Feia 3Tt 27

(A) <@

(B) Hureft

(C) Tearcft

(D) 3w 6 | TH A Afh
(E) 3udth § & #1$ T

‘pettsl’ forg ST Y Sieft 27
() w=ff fedt

(B) dfat fe=t

(C) forerd

(D) 30w W | TH § AfUh
(E) 394 # ¥ hIg T

B @ Dl FTET-FAGTH HeAl A b
e wdier gerew §

(A) T AT

(B) faa =1 ar1g e

(C) =T T e

(D) 30w § | TH § Al

(E) 394 # & =l 7

godierE 3 ‘Hfadeet’ # = e
oo 8 Y 27

(A) Aforeft

(B) 3aedt

(C) ST

(D) 3w U | TH § Afh

(E) 3udth # & #1$ T
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13.

14.

15.

16.

e (TR R g A

Tt Ui ferat aiforat 2Tt
g7

(A) =

(B) |

(C) =

(D) 39w | ¥ UH ¥ M+

(E) 394 # ¥ HIg T

el it W ‘Artificial Dialect’
(Fm =ieft) fore et 27

(A) SISt 1emen firea

(B) fircmrrsee

(C) Tmaf g arEf

(D) 39w | ¥ UH ¥ M+

(E) 3udth § & 1$ T

TErt’ IuWTET % Add wH-H Sreft
TE et 77

(A) eff werEt

(B) weA werel

(C) dfert werel

(D) 39w | ¥ UH ¥ M+

(E) 3udth # & #1$ T

‘TfRet’ & T o= AW @ off g
STTar 27

(A) feeeh

(B) fedi

(C) fergeart

(D) 39w | ¥ UH ¥ M+
(E) Sugh @ 4 g T

[P.T.O.



17.

18.

19.

20.

fr=fafaa & @ F9-u1 33 7 27
(A) Tne

(B) et

(C) ranerdt

(D) 39w H ¥ UH ¥ M

(E) 3udth # & #1$ T

“Fater & wf-foese ®
(A) &1+ @

(B) & + 3a

(C) 7@ + Zer

(D) 39w H ¥ UH ¥ M+
(E) 3udth # & r$ T

‘] 1 AT T ©
(A) =

(B)

(C) Ffeeram

(D) 39w | ¥ UH ¥ M
(E) 3w & & 18 7t

‘S S sfaerd % 9o w1 & A %

foTu o w7z @

(A) eI

(B) Ufererieen

(C) =

(D) 30w W | TH § AfUh
(E) Sudth # & 1S T
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21.

22.

23.

24.

‘i’ fore wTsa 1 qETEET 27
(A) =™

(B) IR

(C) TeR

(D) 39w | ¥ TH & i

(E) 3udth # @ 1g T

wafa i gfe & F-w 3w w2
(A) dh—afft

(B) 3UT—3H

(C) sHT-gm

(D) 39y | ¥ TH ¥ M=

(E) 3udth § @ *1$ T

“qTeheiR’ Teg | FHH-|1 THE 27
(A) STHvE

(B) dcgR

(C) 33

(D) 39y H ¥ TH ¥ M
(E) 3wt § & #1g T

frefafaa & @ F9-a1 a9 g8 27
(A) i % e T |

(B) =19 %1 U ¥=E Tied fira|
(C) <9 T gd & 3TErft 3T 2|
(D) 39w | ¥ TH ¥ M

(E) 3udth # & #1$ T

4 [N emr A A ROR



25.

26.

27.

“u @ek 4 S s fem)” g #
Qqa’_)?%

(A) w0

(B) @&

(C) fergior

(D) 39y | ¥ TH ¥ M
(E) 394w | & &g T

U’ veg form G # foRen-farior 6
&9 H TYH g 27

(A) Gt Y FHeuT el 2|

(B) I =1 foha G 2!

(C) ¥ TSH 9gd Y& foraar 2|
(D) 39w H ¥ TH ¥ M
(E) 3udth # & 1S T

IRd 1 I TRt i @
(A) "ERd

(B) dIfal

(C) afua

(D) 39w | ¥ UH ¥ M
(E) 39w & & &g 7
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28. fr=fafga 4 4 snfoar=es 93 w=-t

29.

30.

27

(A) T

(B) =%

(C) T

(D) 39w H ¥ UH ¥ M
(E) 39w & & &8 7

frfafaa 4 @ ®F-91 IT9gEy 9™
27

(A) gH

(B) ¥®

(©) #

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

“Tfea st § Hiewd w = 21
T H T R 1 @ B

(A) Z=BTEIE feam

(B) <A@k T
(GRRUSEICERERI

(D) 39w | ¥ TH ¥ M=
(E) 39w & & 18 T

[P.T.O.



31.

32.

PART—II
( GENERAL STUDIES )

In a shop, the cost of 2 pencils
and 3 erasers is 9 and the
cost of 4 pencils and 6 erasers
is ¥ 18. What is the cost of each
pencil and each eraser?

(A) The cost of each pencil is
¥1 and the cost of each
eraser is €2

(B) The cost of each pencil is
¥2 and the cost of each
eraser is ¥1

(C) The cost of each pencil is
¥3 and the cost of each
eraser is ¥2

(D) More than one of the above

(E) None of the above

The average age of 4 sisters is
7 years. If we add the age of
mother, then the average age
is increased by 6 years. The age
of the mother is

(A) 37 years
(B) 42 years
(C) 34 years
(D) More than one of the above

(E) None of the above
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33. The volume of the right prism

34.

with an area of base 121 m? and
height 23 m is

(A) 5.26 m°

(B) 2783 m?3

(C) 529 m3

(D) More than one of the above

(E) None of the above

How many prime numbers are
there between 1 and 507?

(A) 10
(B) 15
(C) 21

(D) More than one of the above

(E) None of the above



31.

32.

PART—II

( GENERAL STUDIES )

TF gHM | 2 U 3R 3 W A FHmd
9 quT 4 Uffst 3 6 WR Hit Fiud
¥ 18 B A% Ul 3R T WA
FHiTa o B7

(A) &% Ufaa f Fdma T1oaun
ek T hl hiAd €2

(B) Y% Ufew @t diga T2 qo
Yk W hiHa 1 2

(C) v Ufea &t dma T3 dun
e T ol hiHa T2

(D) 39Y® | ¥ TH ¥ M

(E) 37 & ¥ 18 T

4 Tt 1 oftwa oy 7 a9 B AR &
o o 1 oemg Sie 3, d sfiea ey
6 99 &g STt 7| | i A Bl

(A) 37 a9

(B) 42 =4

(C) 34 =

(D) 39y H ¥ TH ¥ M

(E) 37 & & 18 e
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33.

34.

121 =t e MUR &9 3R 23 HieX
TS It ot TUSH o1 3Tae ©

(A) 5-26 =9 HX
(B) 2783 =4 Wi
(C) 529 = i
(D) 39w W | TH § Afh

(E) 37 | ¥ 18

1 3R 50 =& = fohadl 3rva™T et
Tt 27

(A) 10
B) 15
(©) 21
(D) 39 U | UH ¥ Al

(E) 37 & & 18 e

[P.T.O.



35. The value of 1/M is 37.
0-00005329

35
(A) =3
45
B) 53
55
©) 33

(D) More than one of the above

(E) None of the above

36. If x, y and z are positive real
numbers, then ?/3125x10y5z10

is equal to

(A) 5x2yz2
(B) 25x3y2z
(@] 125x2yz2

(D) More than one of the above

(E) None of the above

38.

If 3tan6 = 4, then evaluate

3sin®+2cosb
3sin® —-2cosO

A) 1
(B) 2
(C) 0

(D) More than one of the above

(E) None of the above

A solid piece of iron in the form
of a cuboid of dimensions
(49 cm x 33 cm x 24 cm) is
moulded to form a solid sphere.
The radius of the sphere is

(A) 19 cm
(B) 23 cm
(C) 21 cm

(D) More than one of the above

(E) None of the above
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0-00001225 37. IR 3tanB =47, @
35. | —————————HUAET
0-00005329

3sin®+2cos6

(A) 35 3sinb -2cosH
73
45 T YeATeh hIfSTT |
(B) 93
(A) 1
(©) 55 B) 2
23
€) O

(D) 3w A A @ e (D) < & @

(E) 394 # & rg 7 (E) 3w # & g 7

36. A x, y IR z YA TTEdfash TEATd

38. TR ® TH 3 HS (49 To Hio x

ﬁ,aﬁ§/3125x10y5210 S B 33 %o o x 24 Fo Ho) A A
Teh O o AHRR H 2| Ul @Teiohl

(A) SxPyz” Th 3 Ml SR S ' M
IEERIR

3,2

B 2y (A) 19 o o

(C) 125x2yz> (B) 23 Wo Ho
(C) 21 Ho o

(D) 39y H ¥ TH ¥ M
(D) 3w U | UH A Afh

(E) 3w & & Hrg T (E) 393 & & g T
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39.

40.

41.

22 /MIV/M-2023-07/S2 (M)/07-A

In nuclear reactors, D50 is used 42.
as

(A) fuel

(B) source of deuterons

(C) moderator

(D) More than one of the above

(E) None of the above

Lacteals are concerned with 43.
(A) production of milk

(B) secretion of lactic acid

(C) absorption of fats

(D) More than one of the above

(E) None of the above

Which branch of botany is
concerned with the study of 44.

photosynthesis?

(A) Plant Taxonomy

(B) Ecology

(C) Plant Physiology

(D) More than one of the above
(E) None of the above

10

The study of inheritance from
one generation to another is
known as

(A) genetics

(B) microbiology

(C) cytology

(D) More than one of the above
(E) None of the above

Which pigment is essential for
nitrogen fixation by leguminous
plants?

(A) Anthocyanin

(B) Leghaemoglobin

(C) Phycocyanin

(D) More than one of the above
(E) None of the above

The enzyme which is mixed with
food in our mouth is

(A) pepsin

(B) peroxidase

(C) amylase

(D) More than one of the above
(E) None of the above



39. i fugeti § D,O &1 3TN Fral

40.

41.

g

(A) T HETH

(B) SIUAI o HId & &9 H
(C) Hesh & ®9H

(D) 3w U | TH A Al
(E) 39w & & &g T

e ffafad o 9 frew wafa
=l 27

(A)  gra-Icare

(B) <ifdess mct-wma

(C) =@ a9

(D) 39w H ¥ UH ¥ M+
(E) Sudeh # & 1S 7

ThET-GTT0 o I W GEfd
Tt -fom =t o 2

(A) ey Fffd

(B) it

(C) dTeq et

(D) 3w # & U @ arfern
(E) 39w # & &g 7
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42. wF W@ ¥ @ fid § Swmia &

43.

44,

o Y (U e

AT 1 hEd ¢

(A) AR

(B) g&H-SAfereht

(C) =Hifrh1-fo

(D) 3w U | TH A Al
(E) 39w & & &g T

TG dtel W ArgeeH e &
U T -=1 Juishs TEvas 27

IR RIIRIEE

(B) eTEHIEIfsH

(C) rEhrarIH

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

I8 USTEH, S BAR §g H oW k@Y
forern &, @

(A) ufees

(B) WATRISH

(C) wwTEerSt

(D) 39w | ¥ TH ¥ i
(E) 39w # & &g 7

[P.T.O.



45, A1203281022H20 is the
chemical formula for

(A) monazite

(B) china clay

(C) sand

(D) More than one of the above

(E) None of the above

46. An animal that chiefly eats meat
is called as

(A) omnivore

(B) carnivore

(C) herbivore

(D) More than one of the above

(E) None of the above
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47. DigiYatra’ was not started at
which airport on 1st December,
20227

48.

49.

(A)
(B)
(C)
(D)

(E)

Bengaluru

Raipur

Varanasi

More than one of the above

None of the above

Who was the Chief Guest on
the Republic Day, 26th January,

2023?

(A) Rishi Sunak

(B) J. R. Biden

(C) Abdel Fattah el-Sisi

(D) More than one of the above
(E) None of the above

Where was the 5th European
Union-India Competition Week,

2022 held?

(A) Mumbai

(B) Bengaluru

(C) New Delhi

(D) More than one of the above

(E)

None of the above



45. Al,03-2Si0, -2 H,0 fF=fafad &

46.

U ferueRt TETIf O 27
(A) HHTIEE

(B) =t fadh

(C) @

(D) 3w W | TH ¥ Afh

(E) 3w & 9 18 7

I8 IEE, S gEdd: WE @l ©
frfafaa & @ @ wgam 27

(A) HFER

(B) IR

(C) BfER

(D) 39w H ¥ TH ¥ M+

(E) 37 & & 18 T
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47.

48.

49,

13 [HAEN RO ey AR O ORI

1 fegrsr, 2022 i T8 a1 3@ W
RPN AR

(A) T

(B) TR

(C) =mmrEh

(D) 39w U | TH § Afh
(E) 39w & & &g T

e fea|, 26 S, 2023 H g
safafsr =6 97

(A) R g

(B) Sfo 3o aged

(C) 3Teed g - Toe
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T

5af FdE FE-wRd A guiE,
2022 el s forar mam on?

(A) =

(B) T

(C) = T

(D) 39w | ¥ TH ¥ i
(E) 39w # & I8 7

[P.T.O.



50. Who was the Project Director 52.

for ISRO’s Aditya-L1 Mission,
launched on 2nd September,
2023 to study the Sun?

(A) Sankarasubramanian K.

(B) P. Veeramuthuvel

(C) Nigar Shaji

(D) More than one of the above

(E) None of the above

51. Which State Legislature in the
USA became the first State that
has voted to outlaw discrimina-
tion based on caste for people of
South Asian descent who allege
that they have been left out of

traditional American safeguards 54.

for fairness in employment and
housing?

(A) California

(B) New York

(C) Mississippi

(D) More than one of the above

(E) None of the above

53.

Which country has recently
announced the successful
eradication of ‘Rubella’?

(A) Cuba
(B) Bolivia
(C) Bhutan

(D) More than one of the above

(E) None of the above

Who has been awarded the
‘Legion of Merit’® Award by
the USA?

(A) General Dalbir Singh Suhag
(B) General Bipin Rawat

(C) Roy Bucher

(D) More than one of the above

(E) None of the above

What is the purpose of ‘India
Pride Project™?

(A) To provide justice to the
Indians living in foreign
countries

(B) To provide justice to women
who have been divorced by
NRIs

(C) Bringing Indian heritage
back to India

(D) More than one of the above

(E) None of the above
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50. T H JEA A * fow 2 Faew,

51.

2023 &l &g T TT TE F I -
L1 T & gfEsn e g 97

(A) TIRTgSH 2 o

(B) o sy

(C) TR =t

(D) 3w U | TH A Afh

(E) 37 | ¥ 18 e

gh 59 SWRER H o o@mE-"l TS
Toenfrem Tgen Tsg =9 e e gfao
fyErE g % i % forg sifa & emem
W HewrE I e Ffvd F % fow
o 3R 3mam 4 fwear & fom
URARE STHICH GRa Ul | STel Tl
T 27

(A)  HfcTwrtan

(B) =

(C) Tufafadt

(D) 39y | ¥ TH ¥ M

(E) 37 & & 18 e
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52. T & H FE o 7 TS F AHA

53.

54.

R (N e

I I T At 27

(A) s

(B) siferfera

(C) wem

(D) 39w | ¥ TH ¥ 3=
(E) 30 ¥ & &g T

e g Sfiem afe Afe’ wwe
ol feam man?

(A) S TR T gem
(B) S fofu= Taa

(C) TR

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

‘3feen WS WS W 3T @

(A) fogei § ® ® wRdEl @ =™
AESIE

(B) Tlo Mo 3Eo TR URE®
Hgetret st = feem

(C) Wt forredt =l aToE Ra T
(D) 39w | ¥ UH ¥ 1M+
(E) 3w H © %18 T

[P.T.O.



55. Which of the following is not

56.

57.

58.

young fold mountain?

(A) Aravallis

(B) Andes

(C) Appalachians

(D) More than one of the above

(E) None of the above

Which of the following areas has
the lower snow line?

(A) Equatorial region

(B) Himalayan region

(C) Alps region

(D) More than one of the above
(E) None of the above

The Tropic of Cancer covers
the maximum area of

(A) Ranchi Plateau

(B) Malwa Plateau

(C) Chota Nagpur Plateau

(D) More than one of the above

(E) None of the above

Thorn forests are not found in
(A) Karnataka

(B) Andhra Pradesh

(C) Tamil Nadu

(D) More than one of the above

(E) None of the above

22/MIV/M-2023-07/S2 (M)/07-A

59. Which State has

60.

61.

62.

maximum
laterite soil?

(A) Uttar Pradesh

(B) Bihar

(C) Meghalaya

(D) More than one of the above

(E) None of the above

Name the country who will host
the first G21.

(A) France
(B) Japan
(C) Brazil

(D) More than one of the above
(E) None of the above

Which of the following
instruments is used for
measuring humidity in the air?

(A) Aerometer

(B) Hydrometer

(C) Hygrometer

(D) More than one of the above

(E) None of the above

Which of the following blows
from Mediterranean Sea to the
Northwest part of India?

(A) Western Disturbance

(B) Norwester

(C) Mango Shower

(D) More than one of the above

(E) None of the above



55. fmfafed & @ ®F-w1 ga1 afad wda 59. fu U591 gow wiftre devge fidt 27

& 87 (A) 3 T

(A) e (B) feer

(B) TN (C) Heer™

(C) wTwifirm (D) 3T & & wF ¥

(D) 393 # & T & 31k (E) 394w & & &8 T

(E) 3w & @ 18 7t

60. 3IW I H AW TR, ST TEd G21 6

56. ffafad &= & @ fraeht =7 few Tan ﬁwjﬁ‘ml

87 (A) ™

() e i (B)

(B) Temmerdt &= © Wﬁa‘

©) st (D) w@aﬁ@wﬁﬁw

(D) 39w W | TH § AfIh (E), w3 3 e e

(E) 3w | © *1E Tl 61. o § Tt A % fou Frefefaa § @

ore Su=RToT =T 39T TR ST 27

57. h-T@ R T & ea1ed 2 (A) TR

(A) et TBR (B) eTEgHiX

(B) WedT SR (C) wrgumHER

(C) BreT TR TR il (D) 7Y H § TH ¥ A

(D) 30w § ¥ 1F & (E) 3w & & g e

(E) 3udth # & 1S 7

62. f=fafiad & ¥ HH-61/€ YA dR

e it N o
58. R Ser A T 9§ e o

<1 /et 87
(A) e A (A) it frai
(B) Y wew § (B) e
(C) dftcrrg # (C) wHET & Teal 1 A
(D) Sugth @ & TH @ Aferh (D) I § & uF @ e
(E) Sudth # & #1$ T (E) 37 & & 18 e
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63.

64.

65.

66.

Under whose leadership did the
Santhal Rebellion of 1855-1856
take place?

(A) Raj Kumar Shukla

(B) S. N. Sinha

(C) Sahajanand Saraswati

(D) More than one of the above

(E) None of the above

Which important event took
place on 5th March, 1931?

(A) Gandhi-Irwin Pact

(B) Gandhi attended the Round
Table Conference

(C) Karachi Congress
(D) More than one of the above
(E) None of the above

When did the Bihar Youth
League come into existence?

(A) 1930
(B) 1928
(C) 1940
(D) More than one of the above

(E) None of the above

Who led the Salt Satyagraha on
6th April, 1930 in Champaran?

(A) Bepin Behari Varma

(B) Laxmi Narayan Jha

(C) Ramlal Prasad

(D) More than one of the above

(E) None of the above
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67.

68.

69.

70.

When was the
signed?

(A) 24th September, 1932
(B) 24th September, 1930
(C) 26th September, 1930
(D) More than one of the above

(E) None of the above

Poona Pact

Who led the 1857 Revolt in
Bihar?

(A) Mir Bakhsh

(B) Babu Kunwar Singh

(C) Birbhan Singh

(D) More than one of the above

(E) None of the above

At which of the following
Sessions of the Indian National
Congress did the Champaran
trouble come up for discussion?

(A) Calcutta, 1911

(B) Patna, 1912

(C) Ramgarh, 1940

(D) More than one of the above

(E) None of the above

Who gave the famous slogan
‘Inquilab Zindabad’?

(A) Hakim Ajmal Khan

(B) Chandra Shekhar Azad
(C) Hasrat Mohani

(D) More than one of the above

(E) None of the above



63

64.

65.

66.

o g # wue fadre,
1855-1856 g31?

(A) TSTHHR A

(B) wdo THo Tzl

(C) HEsTHe Tl

(D) 39w H ¥ UH ¥ 1M+

(E) 393t o & 18 7

5 #T€, 1931 &l HH-H Fg@qul =
ik

(A)  itei-gefer wwEian

(B) Tieft =T TS e § ST o
(C) == Hid|

(D) 3w U | TH ° Afh

(E) 3w & @ 18 7t

formm g1 i 1 e e gam?
(A) 1930

(B) 1928

(C) 1940

(D) 3 | § TF ¥ Al
(E) 3w ¥ 9 18 T

6 3@, 1930 I TURU H 9%
TR 1 "qcd fohee fopam?

(A) faftm foerdt amt

(B) wI&Ht TR 3

(C) THATA JHTS

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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67. U1 9WEd T T Fe fohU MU

(A) 24 faamr, 1932
(B) 24 f&awr, 1930
(C) 26 faamr, 1930
(D) 39Y® | ¥ TH ¥ 1M
(E) 3wt § & 1S T

. 1857 = fagie # foem =1 g foraa

Tera?

(A) HR T

(B) = g fae

(C) s fire

(D) 39Y® | ¥ TH ¥ M
(E) 3udeh # & 1S 7

. IR T #om % fRe erftewe A

TIROT THEAT, =] ol {5 o177
(A) e, 1911

(B) U, 1912

(C) e, 1940

(D) 37 | ¥ TH A Al
(E) 3udth § & 1S T

70. W AW ‘gehera forarare’ foed fam?

(A) ThHH THA @H

(B) <ERIT R

(C) oo HigHt

(D) 3w W | TH § Afh
(E) Sudth # & #1$ T
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PART—III

( HINDI )
71. Frefafad qwei #t 3% dEE & 9 73. ‘framfa & geEc’ § aftfa ger faw
gaferd hifer : 2
-1 qe-11 _
(7= @7 77) (e L &3
a. f&=dt wnfeea <t 1. TR =qad 2. FgEY
offent
b. fe=<t wifeea = 2. T YR f5ad 3. gEY Tden
SATATEHTCHS 3iag™
c.TI Y@ M &a 3. o=+ &= 4. T e
T 5. o faarg
d. fe=dt wifeea = 4. THFHAR Fui
TE Ffae = R T R § @ @@ Iw W
e. et mfem = 5. o= I8 <o i
AT e
= fow T gz w1 o R oER IW (A) et 1 3R 2
gl (B) aw 2 ¥R 3
(A) a b c d e
1 2 3 4 5 (C) a4 3R 5
B) a b c d e ‘
2 4 1 3 5 (D) 3w & @ wh @ eafeeh
(C) a b c d e . .
3 5 1 2 4 (E) 3w H ¥ *I5 T
(D) 39y H ¥ TH ¥ M
(B) 3w 5 & 0 74, Tt § @ fra wm @ fw
72. ‘Hfrh gere SR A IW i — FTEE T § 37
et wifeea = sfaem@ 1 e -favsH et
3R AT F U I AT P (A)
TifefeEsr 3 gamn 27 B fre R
(A) A= THER YA (B)
(B) ==t wEE fgodt (C) Torweft
(C) efo Tst firrEH ,
(D) 30w W | TH § Afh (D) ST W T 1 A
(E) 3w & & 15 T (E) 393 & & g T
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75. T sw ffdea & Tmem @

76.

77.

rEf-ad HIF-T1 T TE 27

(A) Tfiera—ster THes
(B) sreipd—fsrEy

(C) TR FIA—TawaHTe e W
(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T

TG &I TSR TR
FER Hiieed ¥ e & o g
HH 87

(A) T THEE Y

(B) &=t weme fgadt

(C) efo TWFHAR Fmi

(D) 39w H ¥ UH ¥ M

(E) 39w & & I8 7

& wifeer § ‘&l w1 SR qon
Bt 1 TS foRE e ST 27

(A) TfcHTeR

(B) @R ga

(C) <oufa fos

(D) 39w H ¥ UH ¥ M

(E) 39w # & &g 7
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78. Gd HAYN | g9 frfad |gq o 97

79.

80.

(A) HeR

(B) ™

(C) geem

(D) 39w | ¥ UH ¥ 3+
(E) 39t o & I8 T
‘TE weg A 3t wEe @ feed
T 27

(A) THT= HA

(B) Tt g Tt

(C) T v fgadt

(D) 39y H ¥ TH ¥ M
(E) 393w # & *I$ T

THERE-TY 6 AFER G et
fren i fafafaa @At w1 o
T

(A) AT, e, Srfom, Tifeer
(B) ATeAT, 3formT, 3T, Tifder
(C) hfoert, aformn, e, stRTeMT
(D) 39Y® | ¥ TH ¥ M

(E) 393w # & &g T
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e (v g 81 @ 85 d%) : fmfafad
TSN 1 STHYA iU 3R qD TC T ok Tl
forehed Ao IT-T5 | 3ifha iU |

FTEOT 3R AT AT EET W @l 2 | 36 W
1 8 2 gaa 9 A & | | =07 SeR AR
AT g ol W B, S ST gan oft TE R, 1w
T g ot ge % fiaw €| 9g A o e W
JTROT 61 FIAT HF ®9 9 et 3| g, 4, I
3T IR off SATER0T Y AT 2 | BT o Sfied W Eh
T AT 1 9979 &0k 319 Tedstia T,
fig T BT 21

% o1 UL aTYl TEHTerd 36 Owe a 31fd gt A
BIAT 2, T Tehid 3 STV IraTfeaat o Iiem O
%1 Teh-Teh U1 9Y% U gol-gell o 39 feued &
39 T B | 3R oft femrers ft aE S wem
T AT 2 | 78 98 319 61 U Tei S SR aqom
T g T STHT 3 | 38k o § 3T il T & |
gedft 59 T2, T o1 T, - T wen 5 T,
TTATOT SATRTRT H Gre ohl =g 31} ek TR0 ok
gL 9§ qUf 2 T gl HEl-HEl Iuh B
awy faar Tt 2|

81. TREITY I TA(erh 3UGh Ik @
(A) 3TTEROT T Fa
(B) @wdl sl {To
(C) @ = T
(D) 39y | ¥ TH ¥ M
(E) 3wtk # & 1S T

82. “HWIAT = W A1 AT gl ot HH
2 —zm A ¥ Te T
(A) @
(B) wdam
(C) forereor
(D) 30w W | TH § Al
(E) 3udth § @ #1$ T
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83.

84.

85.

‘T g’ wres w1 a1

(A) =TT T

(B) UATgET= et

(C) fawmm

(D) 39y | ¥ TH ¥ M
(E) 39t § & 1$ T

fopaeh I # o= et @ 27
() @

(B) feaem

(C) 3AT=RuT

(D) 3w W | TH § Afeh
(E) 3udth # & 1S T

“Tgar, AT, UM AR ISRAT i AR
1 8 —2@ I A A™dr e @

(A) @

(B) ==

(C) Teram-fergroor

(D) 30w W | TH § Afh
(E) 3udth # & #1$ T
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86. 3Igea o wiu-faeae am 90. g Fdl 2

(A) Sg+sa (A) I=Ed

(B) 3d+sIA (B) W

(C) Sa+3ta (C) e

(D) I # & u § aferep (D) T # & & ifer

87. AR T, T, 3, T N FE & A€ g 9
TR AW, a1 $HHT INEaT S g, 9
IR TH B, a1 3UH HH-H G g

91. forg wum § 1% off wsd YU &l 2,
AT Tee e Tk T3 319 Uehe

(A) I TR af &t

(B) T TR afY (A) &5 |

(C) Fhg =R wl= (B) wgsfe qum

(D) 3T & & TF & wifer (C) e T

(E) 3w H € Hi5 78l (D) 3T # ¥ TH ¥ Al

(E) 3w d ¥ =I5 T

88. fimfifagd gmi & @ ==-w1 O™ it

9ie ¥ g 92. ‘TR fohg YR = I B7

(A) e—srefiE -

(B) THIZER—cIEY .

(C) =TeA-SeT —3TeqH e pp—

(D) e R T S (D) 3WI® | § TH ¥ AMeh

(E) 3w # § =g T 5 i 4 w1
> ?%WT@;@;’Q?R o 93. ‘URsy’ W fereliw wes B

(A) 5 T () fre

(B) far v (B) STINsY

(C) gshife wwma (C) e

(D) Wﬁﬁ@ﬁﬁw (D) Wﬁﬁ@@ﬁw

(E) 3w & § =g T E) v 8 B
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95.

96.

(A) ST 9Iga Serar gl—fHawr
(B) o &t I 1 a7 g—aie
(C) %A % IFTAR—AUATHH

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T

forelt Tt T A w1 e e
% Ufd gENi h Wl d@e TR
ST Fh 2|

1 | o T % e 3w e @

(A) ==

(B) @

(C) 3AT=RuT

(D) 3w U | TH ¥ Al
(E) 3udh # & *r$ 7

FfaRad ® ¥ HF-81 Tera gaHiad 87

(A) -3 ®RE BHT—HT ST
(B) TR W IeA—3AE =T
(C) TSR HAT—T AT

(D) 39w H ¥ UH ¥ 1M+
(E) 37w & & =g T
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97. Tmfafaa # & AThek o< frd foshed &

98.

99.

27

(A) =Ter, =T, dHat

(B) i, s, mfert
(C) wfert, Fwwee, g
(D) 39w H ¥ UH ¥ 1M+
(E) 393t o & g 7

T g3 A1 T B3, S U W
ueft 1 B T, wa ant Afd gl

7ol R Bg 1 JaTew 27
(A) GRaT

(B) g

(C) =

(D) 39w W | TH § Afh
(E) 3t # & 1S T

fefafea 4 @ o/ @ =@
‘sretgceanat cgon’ off wed 27

(A) wEOT-TrEm

(B) SUTEH A&

(C) faudia @eqom

(D) 39w | ¥ UH ¥ M
(E) 39w # & &8 T
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100. f=fafgd o wwRAGER =R A 102. -1 & G-I % a1 gafea Hife

HH-T1 A T 27 i .
A , T, T 9, o a. §ehed 1. qgwE
( ) HMHE, AL, © HHad b_w N ém
(B) STM=adH, wHE, AHe, € € C. I 3. qon
d. @R 4. foaeft
(C) wWE, g €I, TH<aeH, are e. ot 5. "
= T
(D) I & & v & s _ﬂﬁf‘i”@%w T T
|
(E) 394 § ¥ HIg T A a b ¢ d e
1 2 3 4 5
(B) a b c d e
101. W T % AMAFR FI T gl & o 2 ; . 2 3
gﬁ%ﬂ@ﬁq a C e
o . 3 1 2 4 5
et 11 (D) =wt # & wh & s
(e () (B) i i &
a. ¥z AIge 1. sAfyeafrare
b. F® 2. yftrarg 103. FHffed wea-Fmi 4 § HH-81 &l
C. WA 3. srgfirfeama T 27
d. =fira 4. Icafvane (A) SRB-S3 = M-

B i = s
f= fu MU e W OWEE W EE IH (B) TET-gET = T&l-He

EU (C) R-SAR = FER-IHH
(D) 39w | ¥ UH ¥ 1M+
A) a b ¢ d 53 '
3 1 2 4 (E) 3"3@?5 ﬁé T
B a b ¢ d 104. f=fafaa smeeff w=ai w1 F-u1 39
2 4 3 1 e 7Y
() b d (A) Tost—smemr, ged
a C
3.4 2 1 (B) Ff—end, gry
D) s A T R (D) 3T # & wF ¥ Al
(B) 3w 5 & 0 (E) v & 9
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105. fi=fcRad weal & qat weg qo s @ 108. ‘‘OiEd ¢ did 4g, VW FaiH A

T T HA-H1 JH Td &7 S U
A) FRa—g= o 4% § R STeT 1 A gaT 27
(B) HioATE—ahia+31e PR
(C) sEIHI—S=+TH (B) Fawra s
(D) 3wt 4 ¥ T 9 feren (C) T IR
(E) 374w & @ =g T (D) 37 § & U @ Al
(E) 3w 9 18 T
106. wIiwTfoes Srsai =1 37 fere wrea-wiieh o
e 109. ffafgd eaf@i & & #F-wr af
(A) @& IS TE 27
(B) firen (A) @
(C) =S B) #
(D) 374w & & U o sifersw (C) 2
(E) 3% # & e T (D) 3w # & wh & aferes
(E) 3w § ¥ F15 Td

107. Gfaum & forg g=as & ded 9Rd #
g oft Amifen fordt off sror § efEed @ 110. & @3 # foreft wma, @em, o =1 o

e &7 1 =i B B, 38 N B
(A) 3rF=sT 344 (A) FoTATEF G

(B) 3Tg=sa 347 (B) o=k T

(C) =1g=sg 350 (C) feaTa B

(D) 39T # & UF § AferF (D) 3wt # & wF § e
(E) ST H & =g (E) ST & & #1872
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( ENGLISH )

Directions (Q. Nos. 111 to 125) :
Read the passage given below and
answer the questions that follow :

The idea of power-sharing has emerged
in opposition to the notions of
undivided political power. For a long
time, it was believed that all power of a
government must reside in one person
or group of persons located at one
place. It was felt that if the power to
decide is dispersed, it would not be
possible to take quick decisions and to
enforce them. But these notions have
changed with the emergence of
democracy. One basic principle of
democracy is that people are the source
of all political power. In a democracy,
people rule themselves through
institutions of self-government. In a
good democratic government, due
respect is given to diverse groups and
views that exist in a society. Everyone
has a voice in the shaping of public
policies. Therefore, it follows that in a
democracy, political power should be
distributed among as many citizens as
possible. In modern democracies,
power sharing arrangements can take
many forms. Let us look at some of the
most common arrangements that we
have or will come across. Power is
shared among different organs of
government, such as the legislature,
executive and judiciary. Let us call this
horizontal distribution of power
because it allows different organs of
government placed at the same level to
exercise different powers. Such a
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separation ensures that none of the
organs can exercise unlimited power.
Each organ checks the others. This
results in a balance of power among
various institutions. Last year, we
studied that in a democracy, even
though ministers and government
officials exercise power, they are
responsible to the Parliament or State
Assemblies. Similarly, although judges
are appointed by the executive, they
can check the functioning of executive
or laws made by the legislatures. This
arrangement is called a system of
checks and balances. Power can be
shared among governments at different
levels—a general government for the
entire country and governments at the
provincial or regional level. Such a
general government for the entire
country is usually called federal
government. In India, we refer to it as
the Central or Union Government. The
governments at the provincial or
regional level are called by different
names in different countries.

In India, we call them State
Governments. This system is not
followed in all countries. There are

many countries where there are no
provincial or state governments. But in
those countries like ours, where there
are different levels of government, the
Constitution clearly lays down the
powers of  different levels of
government. This is what they did in
Belgium, but was refused in Sri Lanka.
This is called federal division of power.
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The same principle can be extended to
levels of government lower than the
State Government, such as the
Municipality and Panchayat. Let us call
division of power involving higher and
lower levels of government vertical
division of power. Power may also be
shared among different social groups,
such as the religious and linguistic
groups. ‘Community government’ in
Belgium is a good example of this
arrangement. In some countries, there
are constitutional and legal
arrangements, whereby socially weaker
sections and women are represented in
the legislatures and administration.
Last year, we studied the system of
‘reserved constituencies’ in assemblies
and the parliament of our country. This
type of arrangement is meant to give
space in the government and
administration to diverse social groups,
who otherwise, would feel alienated
from the government. This method is
used to give minority communities a
fair share in power. Power sharing
arrangements can also be seen in the
way political parties, pressure groups
and movements control or influence
those in power. In a democracy, the
citizens must have freedom to choose
among various contenders for power. In
contemporary democracies, this takes
the form of competition among different
parties. Such competition ensures that
power does not remain in one hand. In
the long run, power is shared among
different political parties that represent
different ideologies and social groups.
Sometimes this kind of sharing can be
direct, when two or more parties form
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an alliance to contest elections. If their
alliance is elected, they form a coalition
government and thus share power. In a
democracy, we find interest groups,
such as those of traders, businessmen,
industrialists, farmers and industrial
workers. They also will have a share in
governmental power, either through
participation in governmental
committees or bringing influence on
the decision-making process.

111. What will happen if power to
decide is dispersed?
(A) Quick decisions won’t be
possible
(B) Decision-making will be
easy
(C) Decisions will not be worthy
of enforcing
(D) More than one of the above
(E) None of the above
112. What is the basic principle of
democracy?
(A) People are in power
(B) Political parties are in
power
(C) Only one ruler is in power
(D) More than one of the above
(E) None of the above



113.

114.

115.

Power is shared amongst
different parts of government
such as

(A) executive
(B) judiciary
(C) legislative

(D) More than one of the above

(E) None of the above

Horizontal distribution of power
means

(A) dividing power equally

(B) dividing power on different
levels

(C) dividing power at same
levels of government

(D) More than one of the above

(E) None of the above

Horizontal distribution of power
ensures

(A) each organ exercises limited
power

(B) unequal power distribution

(C) controlling and checking
power distribution of one
organ by other

(D) More than one of the above

(E) None of the above
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116.

117.

118.

119.

Which one of the following is not
a form of government lower than
state government?

(A) Municipality

(B) Panchayat

(C) Rajya Sabha

(D) More than one of the above
(E) None of the above

Power shared amongst social
groups is called as

(A) community government
(B) social government

(C) religious government

(D) More than one of the above
(E) None of the above

What ensures that power does
not remain in one hand?

(A) Competition

(B) Citizens

(C) People in power at lower
level

(D) More than one of the above

(E) None of the above

Direct sharing of power is

possible when

(A) two or more parties form an
alliance to contest elections

(B) formed alliance is elected

(C) one party is unable to
perform

(D) More than one of the above

(E) None of the above

[P.T.O.



120. Give a suitable title to the given

121.

122.

passage.

(A) Power in Politics

(B) Power Sharing

(C) Democratic Politics

(D) More than one of the above
(E) None of the above

Select the most appropriate

word which is similar in
meaning of the word COARSE.

(A) Rough

(B) Shiny

(C) Smooth

(D) More than one of the above
(E) None of the above

Select the word opposite in

meaning to the word
ACCURATE.

(A) Precise

(B) General

(C) Faulty

(D) More than one of the above

(E) None of the above
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123.

124.

125.

The huge painting will be
completed by the artists by the
end of this month.

(Change the voice.)

(A) By the end of this month,
the artists will complete the
huge painting.

(B) The huge painting will be
complete by the end of this
month by the artists.

(C) The artists will complete the
huge painting by the end of
this month.

(D) More than one of the above

(E) None of the above

A thank-you speech was
delivered by her on the occasion
of her convocation.

(Change the voice.)

(A) She delivered a thank-you
speech on the occasion of
her convocation.

(B) She deliver a thank-you

speech on the occasion of

her convocation.

(C) On the occasion of her

convocation, she delivered a

thank-you speech.

(D) More than one of the above

(E) None of the above

Have you ever such a
beautiful flower?

(Choose the correct phrasal
verb.)

(A) come through

(B) come across

(C) come upon

(D) More than one of the above
(E) None of the above



126. An area of land which is used for

127.

128.

burial.

(Find out one-word substitute
for the given sentence.)

(A) Cemetery

(B) Cementery

(C) Crematory

(D) More than one of the above

(E) None of the above

Large-scale destruction by fire is
known as

(A) holocast

(B) holocaust

(C) holocost

(D) More than one of the above

(E) None of the above

A place where bees are kept is
called

(A) bee yard
(B) hive
(C) apiary

(D) More than one of the above

(E) None of the above
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Find out the word which is
misspelt.

(A) Ceorsion

(B) Perseverance

(C) Scavengers

(D) More than one of the above

(E) None of the above

Directions (Q. Nos. 130 and 131) :
Fill in the blanks with correct form of
the verb.

130.

131.

They to attend a dance
party today.

(A) going

(B) are going

(C) went

(D) More than one of the above

(E) None of the above

Rama video-games since
morning.

(A) played

(B) is playing

(C) has played

(D) More than one of the above

(E) None of the above

[P.T.O.



Directions (Q. Nos. 132 to 134) : Spot
the error in the given sentences.

132.

133.

134.

Everyone is gone to the party
today.

(A) Everyone is
(B) gone to the
(C) party today
(D) More than one of the above

(E) None of the above

Samantha is taller in the whole
family.

(A) Samantha is
(B) taller in the
(C) whole family
(D) More than one of the above

(E) None of the above

She takes her dog for a walk
today evening.

(A) She takes her dog

(B) for a walk

(C) today evening

(D) More than one of the above

(E) None of the above
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135. She is currently reading godan

136.

which is written by famous hindi
writer munshi premchand.
(Punctuate the sentence.)

(A) She is currently reading
‘Godan’ which is written by
famous Hindi writer Munshi
Premchand.

(B) She is currently reading
‘Godan’, which is written by
famous Hindi writer munshi
premchand.

(C) She is currently reading
‘Godan’, which is written by
famous Hindi writer Munshi
Premchand.

(D) More than one of the above

(E) None of the above

She has ben playing football
since morning.

(Find out the correct tense of the
given sentence.)

(A) Simple Present

(B) Past Continuous

(C) Present Perfect Continuous
(D) More than one of the above

(E) None of the above



137. I will be going to Delhi next 139. He said to me, “Will you pay my

week. food bill?”
(Find out the correct tense of the (Convert the given sentence into
given sentence.) indirect speech.)

‘ (A) He asked me if I would pay
(A) Simple Future his food bill.

(B) He asked me if I will pay

(B) Present Continuous your food bill,

(C) He asked me if you would

(C) Future Perfect Continuous pay my food bill.

(D) More than one of the above (D) More than one of the above

(E) None of the above
(E) None of the above

140. Blueberry’ is a compound word
that is formed by

138. Select the correct reported (A) adjective + noun

speech for the given sentence :

Priya says, “My father is an (B) noun +noun

excellent tennis player.” (C) noun + adjective

(D) More than one of the above
(A) Priya says that her father is

an excellent tennis player. (E) None of the above

(B) Priya says that her father 141. “I have a pet dog and his name
was an excellent tennis is Robert.”
player. The above sentence is an

example of

(C) Priya said that her father (A) complex sentence
was an excellent tennis
player. (B) compound sentence

(C) simple sentence
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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Directions (Q. Nos. 142 and 143) :
Choose the most appropriate meaning
of the underlined idioms or phrases
given below.

142. Bend over backwards

(A) do whatever it takes to help

(B) look behind to observe

(C) willing to do anything

(D) More than one of the above

(E) None of the above

143. Hit the nail on the head

(A) do/say something exactly
right

(B) to hit someone with harsh
words

(C) to insult someone

(D) More than one of the above

(E) None of the above
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144. She came late because it started

145.

146.

raining cats and dogs.
The underlined section is

(A) adjective clause

(B) adverb clause

(C) adverb phrase

(D) More than one of the above

(E) None of the above

Choose the option that best
captures the central idea of the
related passage from the given
quotes :

(A) “Politeness is the art of

choosing among your
thoughts.”—Madame de
Stael

(B) “Politeness goes far, yet
costs nothing.”—Samuel
Smiles

(C) “Politeness is an
inexpensive way of making
friends.” —William Feather

(D) More than one of the above

(E) None of the above

Rani is waiting for her doctor
afternoon.
(Choose the correct preposition.)

(A) since
(B) for
(C) from

(D) More than one of the above

(E) None of the above



147. Her office is the top floor of 149. Which one of the following is

that tall building. needed for writing an effective
(Choose the correct preposition.) paragraph?

(A) on (A) Unity

(B) at

(B) Coherence

(C) in
(C) Development

(D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None of the above

148. Let us go to beach. Let us go to

garden.

(Choose the appropriate 150. Which one of the following is an
coordinating conjunction that example of salutation in letter
will complete the sentence and writing?

make meaningful.)

(A) Application for Leave

(A) or

(B) and (B) Thanking you

(C) but (C) Sincerely

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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